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15. In the diagram, ABCDEFGH is a regular octagon. C D
Express each of the following as a single vector.
(a) -DC + BE - AG
(b) GF - BA - DC + EA B E
(¢) BC + BG - BA - AH + DC

A F
H G
16. In the diagram, @q = 6 units, Eﬁ| = /72 units B
and the angle between OA and OB is 135°.
(a) Find
() [0A - OB, 72
(ii) [0 + OB).
(b) Suppose that OC = OA + OB. State two 135°
properties of AAOC. A -
6 0
17. In the diagram, the vector OA is perpendicular to the A
vector OB, |@’ = 2 units and |54" = 1 unit.
(a) Find |
T — — — 1
(0P| if O =204 + 30B.
00) if 00 =-04 + 40B.
(b) Calculate the size of £ZPOQ. o by B
0 2

18. The points O, A, B and P are shown in the diagram below. The position vectors of A and B with respect
to the point O are a and b respectively.

-]
B

(a) Locate and label clearly the point Q if 00 = tb and QP = sa.
(b) Hence, find the values of s and 7.
(c) The point R on OA is such that ‘R_Q" = ’ﬁ‘

(i) Locate and label clearly the point R.

(ii) Hence, express OR and BR in terms of a and/or b.




